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What is the difference between them — WM INA

OVERVIEW

The X 13 asks, since " agrees that WX is also Mnn 21wn 21 (besides being 271
»xn owwn), what is the difference 79975 between "1 and 5™.' Our nooIN asks that
the &»3 could have presented differences that were already mentioned.”

mooIN anticipates a difficulty:
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The &) could have answered that the difference between 5" °"1 are all those
cases mentioned previously in the X723; firstly there is the case of a dog who took

a cracker and placed it (did not throw it) on the granary -
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Where according to >''1 he pays for the remainder of the 273 (outside the opn
nonan) a 3'n, and according to ®''1 he is exempt for the rest of the w7 —

A second difference:
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Where according to >'' even if he did not ignite the body of the slave directly

(but rather the bound slave was burnt [indirectly] by the fire) the rule of »'"2a%p
applies, while according to 2" it does not® —

A third difference:
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And by 1mu in a case where ‘his arrows did not cease; where he is 31
according to >''9, but according to "1 he is Tmw»."!

! The X3 answers that according to *"3 he is 2127 '72 21 (if he burnt a person) and according to " he is not.
% See 127n 71"7 *"w who (basically) asks the same question. See ‘Thinking it over’ # 1
3 See x,2>.
* mooIn could have seemingly said that he threw it at the w>73 (where according to 9" he would be 7115 on the w7
and according to *"1 he would be 217 a 117 on the w>73). However this would depend what the ruling is regarding 1>
o (see °"M "7 X,20 '0N).
® Since ¥n DWW WX it is the ML of the 293,
% The WX is not 11mn.
7 See 2,23. Since it is 1y it is considered that he killed the 72y from a distance through 1¥r.
8 By 1w 1w there is no 70 2110 and therefore no n"2%p.
? The fire damaged (something 170) in a place where the fire can reach initially (with a 7%n m17).
19 See our Tmy. Since it is xm, there is no MW of 170 by X1 (or PO OTX).
" Since it is ‘merely’ the P11 of WX (not 1"¥17 or P I OTXR), where 1Y is 7WL.
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mooin does not explain why the X7n3 did not offer these differences.

SUMMARY
There are three (additional) differences between %" >"9; namely. 1) w73, 2) 72V,
and 3) 11nY by 1817170 RY.

THINKING IT OVER
1. Why did n9o1n ask this question'> when >"w1 already asked it (and answered'”)?

2. Why did not n9010 mention the case of the 5m3,'* where according to "1 he is
21 only if it is 7219 77°277 25 N20207 (as "1 mentions)?!"”

12 See footnote # 1.
3 See mwn nom.
1 See x,70.
15 See ywir "1o.
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